# APPLICATION AND CERTIFICATE FOR PAYMENT CITY OF MADISON ENGINEERING DIVISION

Project Manager:	JIM WOLFE	Page 1 of	_
NORTH	BASSETT STREET, CONKLIN-UNI	VERSITY ALLEY, AND HENRY-BROOM ALLEY	
	MENT DISTRICT - 2017		
Contract Number:	7847	Payment Number: 13	<del>-</del>
DO NOT WRIT	'E IN THIS BOX - TO BE CO	MPLETED BY CITY ENGINEERING PERSONNEL ONLY	7
TOTAL FROM PAGE	E:11	2751,412.84	
LESS RETAINAGE:		57,714.16	
SUBTOTAL:		2,193,698.68	
LESS PREVIOUS PA	AYMENTS:	2,191,034.99	_
CURRENT PAYMEN	IT DUE:	2,191,034.99 \$ 2,663.69	_
and tha  CONTE  INSPECTOR'S CER  The un- by this	RACTOR:  R. G. HUSTON CO., TIFICATE FOR PAYMENT: dersigned Inspector certifies that	, INC. DATE  to the best of his/her knowledge, the work covered gompleted in accordance with the contract documents.	_
INSPEC	CTOP CTOP	1- Hewlm 4-13-18	3
PLEASE PROVIDE TH	E TIME PERIOD FOR THIS PAYME	ENT REQUEST: FROM: 2017 W	OPE
PLEASE PROVIDE TH	E CONTRACTOR/SUBCONTRACT	ENT REQUEST:  FROM:  TO:  ORS THAT WORKED ON PROJECT DURING THIS PERIOD:	_ L+87 428118 THIS 3/19/19 -
	D PAYMENT REQUEST SHALL BE SU L PAYMENTS CAN BE PROCESSED	UBMITTED TO THE ENGINEER/INSPECTOR.  DEVERY TWO WEEKS.	_

STREET ACCOUNT: 11430-402-170 STREET STORM ACCOUNT: 11430-402-174

**SANITARY ACCOUNT: 11430-83-173** WATER ACCOUNT: 11430-86-179 SIGNAL ACCOUNT: 11430-402-176 LIGHTING ACCOUNT: 11430-402-177

# CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

R. G. HUSTON CO., INC.

NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017 CONTRACT NO. 7847

CONTR	ACT NO. 7847										*****		
PAYME	NT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
STREET	ACCOUNT: 11430-402-170												
10701.1	TRAFFIC CONTROL (N. BASSETT ST.)	0.57	LUMP SUM	\$49,150.00	\$28,113.80		0.00	\$0.00	0.57	\$28,015.50	0.57	\$28,015.50	99.7%
10701.2	TRAFFIC CONTROL (CONKLIN ALLEY)	1.00	LUMP SUM	\$9,725.00	\$9,725.00		0.00	\$0.00	1.00	\$9,725.00	1.00	\$9,725.00	100.0%
10701.3	TRAFFIC CONTROL (HENRY ALLEY)	1.00	LUMP SUM	\$9,725.00	\$9,725.00		0.00	\$0.00	1.00	\$9,725.00	1.00	\$9,725.00	100.0%
10720	TRAFFIC CONTROL SIGN - PORTABLE ARROW BOARD	100.00	DAYS	\$20.00	\$2,000.00		0.00	\$0.00	60.00	\$1,200.00	60.00	\$1,200.00	60.0%
10721	TRAFFIC CONTROL SIGN - PORTABLE CHANGEABLE MESSAGE	14.00	DAYS	\$100.00	\$1,400.00		0.00	\$0.00	14.00	\$1,400.00	14.00	\$1,400.00	100.0%
10911.1	MOBILIZATION (N. BASSETT ST.)	0.57	LUMP SUM	\$127,000.00	\$72,644.00		0.00	\$0.00	0.57	\$72,390.00	0.57	\$72,390.00	99.7%
10911.2	MOBILIZATION (CONKLIN ALLEY)	1.00	LUMP SUM	\$9,000.00	\$9,000.00		0.00	\$0.00	1.00	\$9,000.00	1.00	\$9,000.00	100.0%
10911.3	MOBILIZATION (HENRY ALLEY)	1.00	LUMP SUM	\$7,250.00	\$7,250.00		0.00	\$0.00	1.00	\$7,250.00	1.00	\$7,250.00	100.0%
20101	EXCAVATION CUT	1,610.00	C.Y.	\$42.50	\$68,425.00		(0.47)	(\$19.97)	1,439.50	\$61,178.75	1,439.03	\$61,158.78	89.4%
20130	UNDERDRAIN	950.00	L.F.	\$21.00	\$19,950.00		0.00	\$0.00	429.00	\$9,009.00	429.00	\$9,009.00	45.2%
20140	GEOTEXTILE FABRIC TYPE SAS (NON-WOVEN)	800.00	S.Y.	\$3.50	\$2,800.00		0.00	\$0.00	381.32	\$1,334.62	381.32	\$1,334.62	47.7%
20219	BREAKER RUN	520.00	TON	\$6.90	\$3,588.00		0.00	\$0.00	16.68	\$115.09	16.68	\$115.09	3.2%
20221	TOPSOIL	495.00	S.Y.	\$11.00	\$5,445.00		0.00	\$0.00	485.60	\$5,341.60	485.60	\$5,341.60	98.1%
20301	SAWCUT CONCRETE PAVEMENT, FULL DEPTH	625.00	L.F.	\$1.85	\$1,156.25		0.00	\$0.00	483.90	\$895.22	483.90	\$895.22	77.4%
20303	SAWCUT BITUMINOUS PAVEMENT	100.00	L.F.	\$1.25	\$125.00		0.00	\$0.00	166.40	\$208.00	166.40	\$208.00	166.4%
20321	REMOVE CONCRETE PAVEMENT	2,000.00	S.Y.	\$13.60	\$27,200.00		0.00	\$0.00	2,544.67	\$34,607.51	2,544.67	\$34,607.51	127.2%
20322	REMOVE CONCRETE CURB & GUTTER	1,700.00	L.F.	\$4.40	\$7,480.00		185.90	\$817.96	1,540.10	\$6,776.44	1,726.00	\$7,594.40	101.5%
20323	REMOVE CONCRETE SIDEWALK & DRIVE	10,000.00	S.F.	\$3.70	\$37,000.00		0.00	\$0.00	10,911.89	\$40,373.99	10,911.89	\$40,373.99	109.1%
20327	REMOVE TREE GRATE	5.00	EACH	\$385.00	\$1,925.00		0.00	\$0.00	6.00	\$2,310.00	6.00	\$2,310.00	120.0%
20401	CLEARING	95.00	I.D.	\$25.00	\$2,375.00		0.00	\$0.00	104.00	\$2,600.00	104.00	\$2,600.00	109.5%

R. G. HUSTON CO., INC.

NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017

CONTRACT NO. 7847											******		
PAYMEN	IT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
20402	GRUBBING	95.00	I.D.	\$25.00	\$2,375.00		0.00	\$0.00	104.00	\$2,600.00	104.00	\$2,600.00	109.5%
20801	SODDING	460.00	S.Y.	\$8.90	\$4,094.00		0.00	\$0.00	398.64	\$3,547.90	398.64	\$3,547.90	86.7%
21063	EROSION MATTING, CLASS I, TYPE A - ORGANIC	35.00	S.Y.	\$2.00	\$70.00		0.00	\$0.00	86.96	\$173.92	86.96	\$173.92	248.5%
30201	TYPE 'A' CONCRETE CURB & GUTTER	1,595.00	L.F.	\$26.25	\$41,868.75		0.00	\$0.00	1,572.29	\$41,272.61	1,572.29	\$41,272.61	98.6%
30203	TYPE 'X' CONCRETE CURB & GUTTER	95.00	L.F.	\$37.90	\$3,600.50		0.00	\$0.00	56.00	\$2,122.40	56.00	\$2,122.40	58.9%
30206	TYPE 'G' CONCRETE CURB & GUTTER	70.00	L.F.	\$37.90	\$2,653.00		0.00	\$0.00	80.00	\$3,032.00	80.00	\$3,032.00	114.3%
30208	HAND FORMED CONCRETE CURB & GUTTER	40.00	L.F.	\$37.90	\$1,516.00		0.00	\$0.00	36.00	\$1,364.40	36.00	\$1,364.40	90.0%
30301	5 INCH CONCRETE SIDEWALK	4,450.00	S.F.	\$7.80	\$34,710.00		0.00	\$0.00	3,029.85	\$23,632.83	3,029.85	\$23,632.83	68.1%
30302	7 INCH CONCRETE SIDEWALK AND DRIVE	6,900.00	S.F.	\$8.00	\$55,200.00		217.49	\$1,739.92	9,001.10	\$72,008.80	9,218.59	\$73,748.72	133.6%
30340	CURB RAMP DETECTABLE WARNING FIELD	172.00	S.F.	\$30.30	\$5,211.60		0.00	\$0.00	212.00	\$6,423.60	212.00	\$6,423.60	123.3%
30342	TREE GRATE 4'X8' (INCLUDING FRAME)	8.00	EACH	\$4,640.00	\$37,120.00		0.00	\$0.00	9.00	\$41,760.00	9.00	\$41,760.00	112.5%
40101	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 1	750.00	TON	\$23.75	\$17,812.50		0.00	\$0.00	400.15	\$9,503.56	400.15	\$9,503.56	53.4%
40102	CRUSHED AGGREGATE BASE COURSE GRADATION NO. 2	1,300.00	TON	\$29.50	\$38,350.00		0.00	\$0.00	1,099.87	\$32,446.17	1,099.87	\$32,446.17	84.6%
40202	HMA PAVEMENT TYPE E-1	70.00	TON	\$106.06	\$7,424.20		0.00	\$0.00	71.05	\$7,535.56	71.05	\$7,535.56	101.5%
40203	HMA PAVEMENT TYPE E-3	270.00	TON	\$69.44	\$18,748.80		0.00	\$0.00	306.76	\$21,301.41	306.76	\$21,301.41	113.6%
40301	FULL WIDTH GRINDING	270.00	S.Y.	\$20.61	\$5,564.70		0.00	\$0.00	462.50	\$9,532.13	462.50	\$9,532.13	171.3%
40311	PULVERIZE AND SHAPE	290.00	S.Y.	\$18.50	\$5,365.00		0.00	\$0.00	266.81	\$4,935.99	266.81	\$4,935.99	92.0%
40401	8 INCH CONCRETE PAVEMENT	275.00	S.Y.	\$100.00	\$27,500.00		0.00	\$0.00	392.56	\$39,256.00	392.56	\$39,256.00	142.7%
40402	9 INCH CONCRETE PAVEMENT	780.00	S.Y.	\$102.02	\$79,575.60		0.00	\$0.00	975.33	\$99,503.17	975.33	\$99,503.17	125.0%
40403	10 INCH CONCRETE PAVEMENT	750.00	S.Y.	\$111.11	\$83,332.50		0.00	\$0.00	810.02	\$90,001.32	810.02	\$90,001.32	108.0%
60802	PAVEMENT MARKING EPOXY, LINE, 6-INCH	140.00	L.F.	\$1.25	\$175.00		0.00	\$0.00	51.00	\$63.75	51.00	\$63.75	36.4%
60803	PAVEMENT MARKING EPOXY, LINE, 8-INCH	2,010.00	L.F.	\$1.50	\$3,015.00		0.00	\$0.00	612.00	\$918.00	612.00	\$918.00	30.4%
60810	PAVEMENT MARKING EPOXY, DIAGONAL LINE, 8-INCH - L.F	50.00	L.F.	\$2.00	\$100.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60812	PAVEMENT MARKING EPOXY, CROSSWALK, 6-INCH	440.00	L.F.	\$7.50	\$3,300.00		0.00	\$0.00	383.00	\$2,872.50	383.00	\$2,872.50	87.0%

R. G. HUSTON CO., INC.

NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017

	ACT NO. 7847	ALLEY, AND HE	ENK Y-BROC	JM ALLEY ASSE	SSMENI DISTR	ICT - 2017					*****		
PAYME	NT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60814	PAVEMENT MARKING EPOXY, CROSSWALK, 12-INCH	350.00	L.F.	\$9.25	\$3,237.50		0.00	\$0.00	480.00	\$4,440.00	480.00	\$4,440.00	137.1%
60815	PAVEMENT MARKING EPOXY, CROSSWALK, 18-INCH	50.00	L.F.	\$13.50	\$675.00		0.00	\$0.00	26.00	\$351.00	26.00	\$351.00	52.0%
60816	PAVEMENT MARKING EPOXY, CONTINENTAL CROSSWALK, 18-INCH	100.00	L.F.	\$13.50	\$1,350.00		0.00	\$0.00	240.00	\$3,240.00	240.00	\$3,240.00	240.0%
60817	PAVEMENT MARKING EPOXY, ROUNDABOUT EDGE LINE, 18-INCH	200.00	L.F.	\$13.50	\$2,700.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60818	PAVEMENT MARKING EPOXY, STOP LINE, 24-INCH	150.00	L.F.	\$14.25	\$2,137.50		0.00	\$0.00	159.00	\$2,265.75	159.00	\$2,265.75	106.0%
60823	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE	2.00	EACH	\$175.00	\$350.00		0.00	\$0.00	4.00	\$700.00	4.00	\$700.00	200.0%
60825	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LEFT/RIGHT ARROW	2.00	EACH	\$185.00	\$370.00		0.00	\$0.00	4.00	\$740.00	4.00	\$740.00	200.0%
60826	PAVEMENT MARKING EPOXY, SYMBOL, BIKE LANE & STRAIGHT ARROW	8.00	EACH	\$185.00	\$1,480.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
60831	PAVEMENT MARKING EPOXY, SYMBOL, STRAIGHT ARROW	1.00	EACH	\$210.00	\$210.00		0.00	\$0.00	1.00	\$210.00	1.00	\$210.00	100.0%
60832	PAVEMENT MARKING EPOXY, SYMBOL, STRAIGHT & LEFT ARROW	2.00	EACH	\$275.00	\$550.00		0.00	\$0.00	2.00	\$550.00	2.00	\$550.00	100.0%
60833	PAVEMENT MARKING EPOXY, SYMBOL, STRAIGHT & RIGHT ARROW	1.00	EACH	\$275.00	\$275.00		0.00	\$0.00	1.00	\$275.00	1.00	\$275.00	100.0%
60834	PAVEMENT MARKING EPOXY, WORD, ONLY	1.00	EACH	\$275.00	\$275.00		0.00	\$0.00	1.00	\$275.00	1.00	\$275.00	100.0%
90001	INTEGRAL CONCRETE CURB	95.00	L.F.	\$40.40	\$3,838.00		0.00	\$0.00	67.00	\$2,706.80	67.00	\$2,706.80	70.5%
90002	ALLEY CONCRETE PAVEMENT REPAIR	100.00	S.Y.	\$188.30	\$18,830.00		0.00	\$0.00	102.24	\$19,251.79	102.24	\$19,251.79	102.2%
90003	7" COLORED CONCRETE	7,800.00	S.F.	\$11.30	\$88,140.00		0.00	\$0.00	7,701.57	\$87,027.74	7,701.57	\$87,027.74	98.7%
90004	CONCRETE MEDIAN	470.00	S.F.	\$17.20	\$8,084.00		0.00	\$0.00	482.66	\$8,301.75	482.66	\$8,301.75	102.7%
90005	TERRACE SUPPORT SYSTEM	2,060.00	C.F.	\$22.00	\$45,320.00		0.00	\$0.00	2,060.00	\$45,320.00	2,060.00	\$45,320.00	100.0%
90006	TOPSOIL MIXTURE BACKFILL	40.00	C.Y.	\$181.00	\$7,240.00		0.00	\$0.00	107.87	\$19,524.47	107.87	\$19,524.47	269.7%
90007	1" CLEAR STONE (UNDISTRIBUTED)	5.00	TON	\$150.00	\$750.00		5.00	\$750.00	0.00	\$0.00	5.00	\$750.00	100.0%
90008	TEMPORARY PAVEMENT (UNDISTRIBUTED)	100.00	S.Y.	\$38.60	\$3,860.00		0.00	\$0.00	82.00	\$3,165.20	82.00	\$3,165.20	82.0%
90009	TEMPORARY SIDEWALK (UNDISTRIBUTED)	500.00	S.F.	\$12.70	\$6,350.00		0.00	\$0.00	153.33	\$1,947.29	153.33	\$1,947.29	30.7%
90010	TEMPORARY CROSSWALK ACCESS	4.00	EACH	\$810.00	\$3,240.00		0.00	\$0.00	2.00	\$1,620.00	2.00	\$1,620.00	50.0%
90011	FENCE SAFETY	1,000.00	L.F.	\$7.50	\$7,500.00		0.00	\$0.00	1,074.00	\$8,055.00	1,074.00	\$8,055.00	107.4%

R.	G.	Hυ	ST	ON	CO.,	INC.

NORTH	JSTON CO., INC. BASSETT STREET, CONKLIN-UNIVERSITY ACT NO. 7847	ALLEY, AND I	HENRY-BROO	M ALLEY ASSE	SSMENT DISTR	ICT - 2017	l		l		*****		i
	NT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
90012	CONCRETE PAVEMENT JOINT SEALING	4,000.00	L.F.	\$2.00	\$8,000.00		1.10	\$2.20	4,060.70	\$8,121.40	4,061.80	\$8,123.60	101.5%
90013	REMOBILIZATION FOR MOVING OPERATIONS	1.00	LUMP SUM	\$2,350.00	\$2,350.00		0.00	\$0.00	1.00	\$2,350.00	1.00	\$2,350.00	100.0%
90014	UNDISTRIBUTED SHEET MEMBRANE WATERPROOFING	10.00	S.Y.	\$30.00	\$300.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90015	EXCAVATION AND HAULING OF PETROLEUM CONTAMINATED SOIL (UNDSITRIBUTED)	30.00	TON	\$60.00	\$1,800.00		0.00	\$0.00	54.94	\$3,296.40	54.94	\$3,296.40	183.1%
90016	HIGH FRICTION COLORED SURFACE- BIKE LANE GREEN	3,000.00	S.F.	\$13.20	\$39,600.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS				\$1,054,821.20	•	·	\$3,290.11	•	\$1,042,998.33		\$1,046,288.44	99.19%
STREET	STORM ACCOUNT: 11430-402-174												
20217	CLEAR STONE	400.00	TON	\$12.00	\$4,800.00		0.00	\$0.00	120.37	\$1,444.44	120.37	\$1,444.44	30.1%
20311	REMOVE SEWER ACCESS STRUCTURE	6.00	EACH	\$1,450.00	\$8,700.00		0.00	\$0.00	6.00	\$8,700.00	6.00	\$8,700.00	100.0%
20313	REMOVE INLET	8.00	EACH	\$950.00	\$7,600.00		0.00	\$0.00	11.00	\$10,450.00	11.00	\$10,450.00	137.5%
20314	REMOVE PIPE	275.00	L.F.	\$21.00	\$5,775.00		0.00	\$0.00	310.00	\$6,510.00	310.00	\$6,510.00	112.7%
21002	EROSION CONTROL INSPECTION	5.00	EACH	\$400.00	\$2,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21011	CONSTRUCTION ENTRANCE	4.00	EACH	\$550.00	\$2,200.00		0.00	\$0.00	2.00	\$1,100.00	2.00	\$1,100.00	50.0%
21013	STREET SWEEPING	1.00	LUMP SUM	\$780.00	\$780.00		0.00	\$0.00	1.00	\$780.00	1.00	\$780.00	100.0%
21032	INLET PROTECTION TYPE C - PROVIDE & INSTALL	5.00	EACH	\$40.00	\$200.00		0.00	\$0.00	3.00	\$120.00	3.00	\$120.00	60.0%
21033	INLET PROTECTION TYPE C - MAINTAIN	10.00	EACH	\$40.00	\$400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
21034	INLET PROTECTION TYPE C - REMOVE	5.00	EACH	\$40.00	\$200.00		0.00	\$0.00	3.00	\$120.00	3.00	\$120.00	60.0%
21056	INLET PROTECTION TYPE D HYBRID - PROVIDE & INSTALL	25.00	EACH	\$105.00	\$2,625.00		0.00	\$0.00	11.00	\$1,155.00	11.00	\$1,155.00	44.0%
21057	INLET PROTECTION TYPE D HYBRID - MAINTAIN	40.00	EACH	\$50.00	\$2,000.00		0.00	\$0.00	5.00	\$250.00	5.00	\$250.00	12.5%
21058	INLET PROTECTION TYPE D HYBRID - REMOVE	25.00	EACH	\$50.00	\$1,250.00		0.00	\$0.00	11.00	\$550.00	11.00	\$550.00	44.0%
40362	ADJUST ACCESS STRUCTURE CASTING	4.00	EACH	\$1,075.00	\$4,300.00		0.00	\$0.00	8.00	\$8,600.00	8.00	\$8,600.00	200.0%
40371	REBUILD ACCESS STRUCTURE TOP	2.00	EACH	\$2,000.00	\$4,000.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50211	SELECT BACKFILL FOR STORM SEWER	701.50	T.F.	\$0.01	\$7.02		0.00	\$0.00	656.50	\$6.57	656.50	\$6.57	93.6%

	107011 00 1110		CONTRAC	JOR/INSPEC	I OR/ENGINE	EK SHOULD	UNLY COMP	LETE COLUM	IN #10, 1017	AL UNITS			
R. G. HUSTON CO., INC. NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017 CONTRACT NO. 7847  **********************************													
PAYME	NT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50401	12 INCH TYPE I RCP STORM SEWER PIPE	142.50	L.F.	\$99.50	\$14,178.75		0.00	\$0.00	140.00	\$13,930.00	140.00	\$13,930.00	98.2%
50420	24 INCH X 38 INCH TYPE I HERCP STORM SEWER PIPE	479.00	L.F.	\$199.30	\$95,464.70		0.00	\$0.00	455.26	\$90,733.32	455.26	\$90,733.32	95.0%
50499	CONCRETE COLLAR	1.00	EACH	\$1,050.00	\$1,050.00		0.00	\$0.00	5.00	\$5,250.00	5.00	\$5,250.00	500.0%
50725	5'X5' STORM SAS	6.00	EACH	\$5,890.00	\$35,340.00		0.00	\$0.00	6.00	\$35,340.00	6.00	\$35,340.00	100.0%
50741	TYPE H INLET	4.00	EACH	\$2,410.00	\$9,640.00		0.00	\$0.00	4.00	\$9,640.00	4.00	\$9,640.00	100.0%
50761	SADDLED INLET TYPE I	4.00	EACH	\$2,690.00	\$10,760.00		0.00	\$0.00	6.00	\$16,140.00	6.00	\$16,140.00	150.0%
50792	STORM SEWER TAP	3.00	EACH	\$1,985.00	\$5,955.00		0.00	\$0.00	2.00	\$3,970.00	2.00	\$3,970.00	66.7%
50793	PRIVARE STORM SEWER RECONNECT, TYPE 1	1.00	EACH	\$1,350.00	\$1,350.00		0.00	\$0.00	1.00	\$1,350.00	1.00	\$1,350.00	100.0%
50794	PRIVATE STORM SEWER RECONNECT, TYPE 2	5.00	EACH	\$1,880.00	\$9,400.00		0.00	\$0.00	3.00	\$5,640.00	3.00	\$5,640.00	60.0%
50801	UTILITY LINE OPENING (ULO)	15.00	EACH	\$700.00	\$10,500.00		0.00	\$0.00	11.00	\$7,700.00	11.00	\$7,700.00	73.3%
90030	RECONSTRUCT SAS TO INLET	1.00	EACH	\$3,190.00	\$3,190.00		0.00	\$0.00	1.00	\$3,190.00	1.00	\$3,190.00	100.0%
90031	15" RCP PRECAST BEND	1.00	EACH	\$3,525.00	\$3,525.00		0.00	\$0.00	1.00	\$3,525.00	1.00	\$3,525.00	100.0%
90032	8 INCH STORM SEWER PIPE (PVC C900)	80.00	L.F.	\$39.00	\$3,120.00		0.00	\$0.00	85.00	\$3,315.00	85.00	\$3,315.00	106.3%
	SUBTOTALS				\$250,310.47			\$0.00		\$239,509.33		\$239,509.33	95.68%
SANITA	RY ACCOUNT: 11430-83-173												
10701.1	TRAFFIC CONTROL (N. BASSETT ST.)	0.29	LUMP SUM	\$49,150.00	\$14,106.05		0.00	\$0.00	0.29	\$14,253.50	0.29	\$14,253.50	101.0%
10911.1	MOBILIZATION (N. BASSETT ST.)	0.29	LUMP SUM	\$127,000.00	\$36,449.00		0.00	\$0.00	0.29	\$36,830.00	0.29	\$36,830.00	101.0%
20311	REMOVE SEWER ACCESS STRUCTURE	7.00	EACH	\$1,450.00	\$10,150.00		0.00	\$0.00	8.00	\$11,600.00	8.00	\$11,600.00	114.3%
20314	REMOVE PIPE	277.00	L.F.	\$21.00	\$5,817.00		0.00	\$0.00	227.00	\$4,767.00	227.00	\$4,767.00	81.9%
20335	ABANDON SEWER PIPE WITH SLURRY	1.20	C.Y.	\$2,750.00	\$3,300.00		0.00	\$0.00	1.50	\$4,125.00	1.50	\$4,125.00	125.0%
20336	PIPE PLUG- SANITARY (UNDISTRIBUTED)	10.00	EACH	\$250.00	\$2,500.00		0.00	\$0.00	3.00	\$750.00	3.00	\$750.00	30.0%
20501	ADJUST SEWER ACCESS STRUCTURE	2.00	EACH	\$1,265.00	\$2,530.00		0.00	\$0.00	2.00	\$2,530.00	2.00	\$2,530.00	100.0%
50103	RECONSTRUCT BENCH AND FLOWLINE(S)	2.00	EACH	\$650.00	\$1,300.00		0.00	\$0.00	4.00	\$2,600.00	4.00	\$2,600.00	200.0%

R. G. HUSTON CO., INC.

NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017

CONTRACT NO. 7847			ILINITI DITO		COMENT DIOTIC	2011					*****		
PAYME	NT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
50212	SELECT BACKFILL SANITARY SEWER	1,025.00	T.F.	\$0.01	\$10.25		0.00	\$0.00	1,024.50	\$10.25	1,024.50	\$10.25	100.0%
50225	UTILITY TRENCH PATCH TYPE III	150.00	T.F.	\$88.00	\$13,200.00		0.00	\$0.00	182.00	\$16,016.00	182.00	\$16,016.00	121.3%
50301	8 INCH PVC SANITARY SEWER PIPE	7.00	L.F.	\$393.50	\$2,754.50		0.00	\$0.00	7.00	\$2,754.50	7.00	\$2,754.50	100.0%
50302	10 INCH PVC SANITARY SEWER PIPE	20.00	L.F.	\$975.00	\$19,500.00		0.00	\$0.00	45.00	\$43,875.00	45.00	\$43,875.00	225.0%
50305	18 INCH PVC SEWER PIPE	510.00	L.F.	\$196.90	\$100,419.00		0.00	\$0.00	554.00	\$109,082.60	554.00	\$109,082.60	108.6%
50306	21 INCH PVC SEWER PIPE	45.00	L.F.	\$329.50	\$14,827.50		0.00	\$0.00	3.73	\$1,229.04	3.73	\$1,229.04	8.3%
50322	10 INCH PVC PRESSURE SANITARY SEWER PIPE	23.00	L.F.	\$285.50	\$6,566.50		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
50324	15 INCH PVC PRESSURE SANITARY SEWER PIPE	179.00	L.F.	\$226.50	\$40,543.50		0.00	\$0.00	178.00	\$40,317.00	178.00	\$40,317.00	99.4%
50353	SANITARY SEWER LATERAL	214.00	L.F.	\$58.00	\$12,412.00		0.00	\$0.00	184.50	\$10,701.00	184.50	\$10,701.00	86.2%
50355	RECONNECT	8.00	EACH	\$4,790.00	\$38,320.00		0.00	\$0.00	8.00	\$38,320.00	8.00	\$38,320.00	100.0%
50357	COMPRESSION COUPLINGS	6.00	EACH	\$1,150.00	\$6,900.00		0.00	\$0.00	6.00	\$6,900.00	6.00	\$6,900.00	100.0%
50390	SEWER ELECTRONIC MARKERS	22.00	EACH	\$50.00	\$1,100.00		0.00	\$0.00	17.00	\$850.00	17.00	\$850.00	77.3%
50702	5' DIA SANITARY SAS	6.00	EACH	\$7,000.00	\$42,000.00		0.00	\$0.00	4.00	\$28,000.00	4.00	\$28,000.00	66.7%
50703	6' DIA SANITARY SAS	1.00	EACH	\$12,425.00	\$12,425.00		0.00	\$0.00	1.00	\$12,425.00	1.00	\$12,425.00	100.0%
50791	SANITARY SEWER TAP	12.00	EACH	\$2,280.00	\$27,360.00		0.00	\$0.00	8.00	\$18,240.00	8.00	\$18,240.00	66.7%
50801	UTILITY LINE OPENING (ULO)	11.00	EACH	\$700.00	\$7,700.00		1.00	\$700.00	4.00	\$2,800.00	5.00	\$3,500.00	45.5%
90070	SANITARY SEWER PRESSURE LATERAL	27.00	L.F.	\$74.00	\$1,998.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
90071	FLUID THERMAL BACKFILL	1.00	EACH	\$2,320.00	\$2,320.00		0.00	\$0.00	1.00	\$2,320.00	1.00	\$2,320.00	100.0%
90072	CONKLIN ALLEY SANITARY SEWER REPLACEMENT	145.00	L.F.	\$150.00	\$21,750.00		0.00	\$0.00	142.00	\$21,300.00	142.00	\$21,300.00	97.9%
90073	STORM CROSSING(TUNNELING)	2.00	EACH	\$9,900.00	\$19,800.00		0.00	\$0.00	2.00	\$19,800.00	2.00	\$19,800.00	100.0%
90074	SLURRY BACKFILL	17.00	T.F.	\$380.00	\$6,460.00		0.00	\$0.00	20.00	\$7,600.00	20.00	\$7,600.00	117.6%
90075	HEAVY WASTEWATER CONTROL	1.00	LUMP SUM	\$29,000.00	\$29,000.00		0.00	\$0.00	1.00	\$29,000.00	1.00	\$29,000.00	100.0%
	SUBTOTALS				\$503,518.30			\$700.00	•	\$488,995.89	•	\$489,695.89	97.25%

R. G.	HUS	TON	CO.,	INC
NOPT	TH R	A S S E	TT C	TDE

NORTH	STON CO., INC. BASSETT STREET, CONKLIN-UNIVERSITY ICT NO. 7847	ALLEY, AND H	IENRY-BROO	M ALLEY ASSE	SSMENT DISTRI	CT - 2017	l		I		*****		İ
PAYMEN	IT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
WATER	ACCOUNT: 11430-86-179						ı		ı		I		ı
10701.1	TRAFFIC CONTROL (N. BASSETT ST.)	0.14	LUMP SUM	\$49,150.00	\$6,930.15		0.00	\$0.00	0.14	\$6,881.00	0.14	\$6,881.00	99.3%
10911.1	MOBILIZATION (N. BASSETT ST.)	0.14	LUMP SUM	\$127,000.00	\$17,907.00		0.00	\$0.00	0.14	\$17,780.00	0.14	\$17,780.00	99.3%
50225	UTILITY TRENCH PATCH TYPE III	60.00	T.F.	\$88.00	\$5,280.00		0.00	\$0.00	56.00	\$4,928.00	56.00	\$4,928.00	93.3%
50801	UTILITY LINE OPENING (ULO)	2.00	EACH	\$700.00	\$1,400.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
70002	FURNISH AND INSTALL 6 INCH PIPE & FITTINGS	50.00	L.F.	\$190.00	\$9,500.00		0.00	\$0.00	61.00	\$11,590.00	61.00	\$11,590.00	122.0%
70004	FURNISH AND INSTALL 10 INCH PIPE & FITTINGS	680.00	L.F.	\$154.00	\$104,720.00		0.00	\$0.00	682.50	\$105,105.00	682.50	\$105,105.00	100.4%
70031	FURNISH AND INSTALL 6-INCH WATER VALVE	2.00	EACH	\$1,340.00	\$2,680.00		0.00	\$0.00	3.00	\$4,020.00	3.00	\$4,020.00	150.0%
70032	FURNISH AND INSTALL 8-INCH WATER VALVE	1.00	EACH	\$1,700.00	\$1,700.00		0.00	\$0.00	1.00	\$1,700.00	1.00	\$1,700.00	100.0%
70033	FURNISH AND INSTALL 10-INCH WATER VALVE	3.00	EACH	\$2,230.00	\$6,690.00		0.00	\$0.00	3.00	\$6,690.00	3.00	\$6,690.00	100.0%
70053	REPLACE 1-INCH COPPER SERVICE LATERAL	9.00	EACH	\$6,350.00	\$57,150.00		0.00	\$0.00	7.00	\$44,450.00	7.00	\$44,450.00	77.8%
70080	CUT-IN OR CONNECT TO EXISTING WATER SYSTEM	6.00	EACH	\$4,120.00	\$24,720.00		0.00	\$0.00	6.00	\$24,720.00	6.00	\$24,720.00	100.0%
70082	CUT OFF EXISTING WATER MAIN	4.00	EACH	\$2,840.00	\$11,360.00		0.00	\$0.00	2.00	\$5,680.00	2.00	\$5,680.00	50.0%
70090	ABANDON WATER VALVE BOX	5.00	EACH	\$165.00	\$825.00		0.00	\$0.00	6.00	\$990.00	6.00	\$990.00	120.0%
70101	FURNISH AND INSTALL STYROFOAM	40.00	L.F.	\$26.50	\$1,060.00		0.00	\$0.00	56.00	\$1,484.00	56.00	\$1,484.00	140.0%
70104	ADJUST WATER VALVE BOX	3.00	EACH	\$350.00	\$1,050.00		0.00	\$0.00	5.00	\$1,750.00	5.00	\$1,750.00	166.7%
70105	PIPE PLUG FOR WATER MAIN INSTALLATION	4.00	EACH	\$1,990.00	\$7,960.00		0.00	\$0.00	0.00	\$0.00	0.00	\$0.00	0.0%
	SUBTOTALS			•	\$260,932.15			\$0.00	-	\$237,768.00	•	\$237,768.00	91.12%
SIGNAL	ACCOUNT: 11430-402-176												
60222	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 80) CONDUIT	900.00	L.F.	\$6.40	\$5,760.00		0.00	\$0.00	1,350.00	\$8,640.00	1,350.00	\$8,640.00	150.0%
60224	FURNISH & INSTALL 3 INCH PVC (SCHEDULE 40) CONDUIT	1,700.00	L.F.	\$5.75	\$9,775.00		0.00	\$0.00	1,310.00	\$7,532.50	1,310.00	\$7,532.50	77.1%
60236	FURNISH & INSTALL 1 1/4 INCH PVC (SCHEDULE 40) CONDUIT	70.00	L.F.	\$6.00	\$420.00		0.00	\$0.00	66.00	\$396.00	66.00	\$396.00	94.3%
60238	FURNISH & INSTALL 1 1/4 INCH PVC (SCHEDULE 80) CONDUIT	10.00	L.F.	\$8.00	\$80.00		0.00	\$0.00	10.00	\$80.00	10.00	\$80.00	100.0%

\$3,544.00

100.0%

# CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"													
R. G. HUSTON CO., INC.  NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017  CONTRACT NO. 7847											1		
PAYME	NT NO. 13	1	2	3	4	5	6	7	8	9	#10	11	12
ITEM	TYPE OF WORK	ESTIMATED QUANTITIES	UNITS	UNIT PRICE BID	CONTRACT DOLLARS	C. O. DOLLARS	UNITS THIS APPL.	EXTENSION	UNITS PREV. APPL.(S)	EXTENSION	TOTAL UNITS	EXTENSION	PERCENT COMPLETE
60241	GOPHER RACEWAY FOR ELECTRICAL CONDUIT	15.00	L.F.	\$45.00	\$675.00		0.00	\$0.00	6.50	\$292.50	6.50	\$292.50	43.3%
60261	ELECTRICAL TRENCH	1,400.00	L.F.	\$4.25	\$5,950.00		0.00	\$0.00	1,280.00	\$5,440.00	1,280.00	\$5,440.00	91.4%
60403	CONSTRUCT LB-3 BASE	1.00	EACH	\$886.00	\$886.00		0.00	\$0.00	1.00	\$886.00	1.00	\$886.00	100.0%
60407	CONSTRUCT LB-8 BASE	1.00	EACH	\$936.00	\$936.00		0.00	\$0.00	1.00	\$936.00	1.00	\$936.00	100.0%
60409	CONSTRUCT OFFSET BASE	1.00	EACH	\$1,550.00	\$1,550.00		0.00	\$0.00	1.00	\$1,550.00	1.00	\$1,550.00	100.0%
60411	CONSTRUCT TYPE "G' BASE	7.00	EACH	\$785.00	\$5,495.00		0.00	\$0.00	7.00	\$5,495.00	7.00	\$5,495.00	100.0%
60413	CONSTRUCT TYPE "P' BASE	1.00	EACH	\$1,350.00	\$1,350.00		0.00	\$0.00	1.00	\$1,350.00	1.00	\$1,350.00	100.0%
60423	REMOVE TRAFFIC SIGNAL BASE	4.00	EACH	\$710.00	\$2,840.00		0.00	\$0.00	4.00	\$2,840.00	4.00	\$2,840.00	100.0%
60427	REMOVE ELECTRICAL HANDHOLE	2.00	EACH	\$210.00	\$420.00		0.00	\$0.00	2.00	\$420.00	2.00	\$420.00	100.0%
60441	AUGER CONCRETE ELECTRICAL BASE	1.00	EACH	\$350.00	\$350.00		0.00	\$0.00	1.00	\$350.00	1.00	\$350.00	100.0%
60702	CONSTRUCT ELECTRICAL HANDHOLE TYPE 1	4.00	EACH	\$850.00	\$3,400.00		0.00	\$0.00	1.00	\$850.00	1.00	\$850.00	25.0%
60704	CONSTRUCT ELECTRICAL HANDHOLE TYPE 3	2.00	EACH	\$400.00	\$800.00		0.00	\$0.00	1.00	\$400.00	1.00	\$400.00	50.0%
60706	CONSTRUCT ELECTRICAL HANDHOLE TYPE 5	6.00	EACH	\$1,200.00	\$7,200.00		0.00	\$0.00	8.00	\$9,600.00	8.00	\$9,600.00	133.3%
60708	CONSTRUCT ELECTRICAL HANDHOLE TYPE 7	5.00	EACH	\$1,975.00	\$9,875.00		0.00	\$0.00	5.00	\$9,875.00	5.00	\$9,875.00	100.0%
90091	CONCRETE BASE TYPE 13	1.00	EACH	\$8,000.00	\$8,000.00		0.00	\$0.00	1.00	\$8,000.00	1.00	\$8,000.00	100.0%
	SUBTOTALS				\$65,762.00			\$0.00		\$64,933.00		\$64,933.00	98.74%
LIGHTIN	NG ACCOUNT: 11430-402-177												
60230	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 80) CONDUIT	<del>-</del> 650.00	L.F.	\$5.65	\$3,672.50		0.00	\$0.00	765.00	\$4,322.25	765.00	\$4,322.25	117.7%
60232	FURNISH & INSTALL 2 INCH PVC (SCHEDULE 40) CONDUIT	800.00	L.F.	\$5.25	\$4,200.00		0.00	\$0.00	955.00	\$5,013.75	955.00	\$5,013.75	119.4%
60241	GOPHER RACEWAY FOR ELECTRICAL CONDUIT	30.00	L.F.	\$45.00	\$1,350.00		0.00	\$0.00	18.50	\$832.50	18.50	\$832.50	61.7%
60261	ELECTRICAL TRENCH	400.00	L.F.	\$4.25	\$1,700.00		0.00	\$0.00	400.00	\$1,700.00	400.00	\$1,700.00	100.0%
60401	CONSTRUCT LB-1 BASE	9.00	EACH	\$836.00	\$7,524.00		0.00	\$0.00	9.00	\$7,524.00	9.00	\$7,524.00	100.0%
							1		1				1

\$3,544.00

60403 CONSTRUCT LB-3 BASE

4.00

EACH

\$886.00

0.00

\$0.00

R. G. HUSTON CO., INC. NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017 **CONTRACT NO. 7847** \*\*\*\*\*\* #10 7 **PAYMENT NO. 13** 1 2 3 5 6 8 9 11 12 **UNIT PRICE UNITS THIS ESTIMATED** CONTRACT C. O. UNITS PREV. TOTAL PERCENT ITEM TYPE OF WORK UNITS DOLLARS **DOLLARS** APPL. **EXTENSION EXTENSION** UNITS **EXTENSION** COMPLETE QUANTITIES APPL.(S) BID 60421 REMOVE STREET LIGHT BASE 8.00 EACH \$940.00 \$7,520.00 0.00 \$0.00 \$6,580.00 \$6,580.00 87.5% 7.00 7.00 60427 REMOVE ELECTRICAL HANDHOLE 2.00 EACH \$210.00 \$420.00 0.00 \$0.00 6.00 \$1,260.00 6.00 \$1,260.00 300.0% CONSTRUCT ELECTRICAL HANDHOLE 60702 3.00 **EACH** \$850.00 \$2.550.00 0.00 \$0.00 2.00 \$1,700.00 2.00 \$1,700.00 66.7% TYPE 1 **INSTALL AND MAINTAIN SUPPORT** \$45,635.00 90090 1.00 LUMP SUM \$45,635.00 \$45,635.00 0.00 \$0.00 1.00 \$45,635.00 1.00 100.0% **STRUCTURES** SUBTOTALS \$78,115.50 \$0.00 \$78,111.50 \$78,111.50 99.99% CONTRACT TOTALS \$2,213,459.62 \$3.990.11 \$2,152,316.05 \$2,156,306.16 97.42% CHANGE ORDER #1, ACC'T NOS. (SEE BELOW): 11430-83-173 - 10" PVC 53.00 L.F. \$410.00 \$21,730,00 0.00 \$0.00 53.00 \$21,730,00 53.00 \$21,730.00 100.0% - 4' DIA. SANITARY SAS 1.00 EACH \$6,000.00 \$6,000.00 0.00 \$0.00 1.00 \$6,000.00 1.00 \$6,000.00 100.0% SUBTOTAL \$27,730.00 \$0.00 \$27,730.00 \$27,730.00 11430-402-174 - 4' X 4' STRUCTURE 1.00 **EACH** \$5,000.00 \$5,000.00 0.00 \$0.00 1.00 \$5,000.00 1.00 \$5,000.00 100.0% EACH \$4,820.00 \$4.820.00 - TYPE H INLET 2.00 \$2,410.00 \$4,820.00 0.00 \$0.00 2.00 2.00 100.0% - FIELD BEND 24" X 38" 1.00 EACH \$2.500.00 \$2.500.00 0.00 \$0.00 1.00 \$2,500.00 1.00 \$2,500.00 100.0% - 36" PRE-CAST ROOF 1.00 **EACH** \$2,000.00 \$2,000.00 0.00 \$0.00 1.00 \$2,000.00 1.00 \$2,000.00 100.0% SUBTOTAL \$14.320.00 \$14.320.00 \$14.320.00 \$0.00 **CHANGE ORDER #1 TOTAL** \$42,050.00 \$0.00 \$42,050.00 \$42,050.00 CHANGE ORDER #2, ACC'T NOS. (SEE BELOW): 11430-402-176 - CONSTRUCT ELECTRICAL HANDHOLE 2.00 **EACH** \$1,200.00 \$2,400.00 \$2,400.00 \$2,400.00 0.00 \$0.00 2.00 2.00 100.0% TYPE 5 11430-83-173 - WATER AND SANITARY ISSUES AT LUMP SUM 1.00 \$6,106.75 \$6,106.75 0.00 \$0.00 1.00 \$6,106.75 1.00 \$6,106.75 100.0% **BASSETT & DAYTON** - WATER AND SANITARY ISSUES AT 1.00 LUMP SUM 100.0% \$4.813.00 \$4,813.00 0.00 \$0.00 1.00 \$4.813.00 1.00 \$4.813.00 **BASSETT & JOHNSON (SEWER SHARE)** SUBTOTAL \$10,919.75 \$0.00 \$10,919.75 \$10,919.75 11430-86-179 - WATER AND SANITARY ISSUES AT **LUMP SUM** 1.00 \$4,813.00 \$4,813.00 0.00 \$0.00 1.00 \$4,813.00 1.00 \$4,813.00 100.0% **BASSETT & JOHNSON (WATER SHARE) CHANGE ORDER #2 TOTAL** \$18,132.75 \$0.00 \$18,132.75 \$18,132.75

\$17,441.50

\$2,251,412,84

97.52%

#### CONTRACTOR/INSPECTOR/ENGINEER SHOULD ONLY COMPLETE COLUMN #10, "TOTAL UNITS"

R. G. HUSTON CO., INC. NORTH BASSETT STREET, CONKLIN-UNIVERSITY ALLEY, AND HENRY-BROOM ALLEY ASSESSMENT DISTRICT - 2017 **CONTRACT NO. 7847** \*\*\*\*\*\* #10 2 3 7 **PAYMENT NO. 13** 1 4 5 6 8 9 11 12 CONTRACT **UNITS THIS** PERCENT **ESTIMATED UNIT PRICE** C. O. UNITS PREV. TOTAL ITEM TYPE OF WORK UNITS **DOLLARS DOLLARS** APPL. **EXTENSION EXTENSION** UNITS **EXTENSION** COMPLETE **QUANTITIES** BID APPL.(S) CHANGE ORDER #3, ACC'T NOS. (SEE BELOW): 11430-402-170 - 1" CLEAR STONE TON \$12,015.00 \$0.00 \$12,015.00 \$12,015.00 80.10 \$150.00 0.00 80.10 80.10 100.0% - FULL WIDTH GRINDING 192.50 S.Y. \$20.61 \$3,967.43 0.00 \$0.00 192.50 \$3,967.43 192.50 \$3,967.43 100.0% SUBTOTAL \$15,982.43 \$0.00 \$15,982.43 \$15,982.43 11430-402-174 6.00 L.F. \$250.00 \$1,500.00 0.00 \$0.00 \$1,500.00 6.00 \$1,500.00 100.0% - PRIVATE STORM SEWER 6.00 \$17,482.43 \$0.00 \$17,482.43 \$17,482.43 **CHANGE ORDER #3 TOTAL** CHANGE ORDER #4, ACC'T NO. 11430-86-179 - FIXED LEAK ON 7/28/17 1.00 LUMP SUM \$3.004.00 \$3,004.00 0.00 \$0.00 1.00 \$3,004.00 1.00 \$3,004.00 100.0% \$6,537.50 - FIXED TWO LEAKS ON 8/2/17 1.00 LUMP SUM \$6,537.50 \$6,537.50 0.00 \$0.00 1.00 \$6,537.50 1.00 100.0% - CLAY PLUGS 2.00 EACH \$600.00 \$1,200.00 0.00 \$0.00 2.00 \$1,200.00 2.00 \$1,200.00 100.0% - FURNISH AND INSTALL HYDRANT 1.00 **LUMP SUM** \$3,450.00 \$3,450.00 0.00 \$0.00 1.00 \$3,450.00 1.00 \$3,450.00 100.0% 100.0% - RECONNECT 2 INCH SERVICE 1.00 **LUMP SUM** \$3,250.00 \$3,250.00 0.00 \$0.00 1.00 \$3,250.00 1.00 \$3,250.00

\$17,441.50

\$2.308.566.30

\$0.00

\$3.990.11

\$17,441.50

\$2.247.422.73

**CHANGE ORDER #4 TOTAL** 

**GRAND TOTALS (CONTRACT TOTALS PLUS CHANGE ORDERS)**